Ubungen 3 - Schriftliche Addition

Mathematik Rechnen 5

@ Berechne die Aufgabe auf einem karierten Blatt Papier!

a) 80+3= d) 4+46= g) 1+25=
b) 2+25= e) 5+2= h) 6+21=
c) 2+80= fy 2+75= i) 91+7=

(@ Berechne die Aufgabe auf einem karierten Blatt Papier!

a) 15+588 = d) 85+ 368 = g) 722+ 14 =
b) 810 +47 = e) 236+80= h) 718 +79 =
C) 34+464= f) 79+402= i) 52+176=

(3 Berechne die Aufgabe auf einem karierten Blatt Papier!

a) 3318+ 654 = d) 9356 + 846 = g) 639+ 3829 =
b) 9858 +71 = e) 1659 +177 = h) 2343 +779 =
) 484 +5911 = f) 1057 + 538 = i) 945+ 3954 =
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